3]

N & B | Comparing Integers Side 2
N 16, -16, -31 10y -1, -3, 1
11) -7Fi. 173, 175, -1
12) 13, -10, -5 175, -2
13) -1/7, =277, =357, -4S7
i 4,21, -6, -3 Q
15) -946, -89, -100, 173
Inteqer EXTRAS!E An=wer the followin ue=tionz involving inteqers :
1) ooy negative integer is less than zero, fruc or fds=e

-.5 is larger than -1, truc or fasec

2 if you had five -1z, what would you have in dIF
4 =tartat ™0 on the number line..now mowe +8 from there, then move

-5 from there, then -6 from there, then -3, then +5, +4, -9
-2, +3, +7, +8 STOP!

Where did you end up on the number line?™

5) if you went -6 four time=z on the number line where would you end up?

aF = 8 =



